Potencias de 10 (E)

89 =-1000

51-+1000

811000

42 +1000

171000

62 1000

61-+1000

96 = 1000

84 1000

611000

Calcule los siguientes cocientes.

291000

79 <1000

73 +1000

611000

31000

391000

74 <1000

98 <1000

7--1000

88 = 1000
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Potencias de 10 (E) Respuestas

891000
0.089
511000
0.051
811000
0.081
42 + 1000
0.042
171000
0.017
621000
0.062
61 = 1000
0.061
96 = 1000
0.096
84 = 1000
0.084
61 = 1000
0.061

Calcule los siguientes cocientes.

291000
0.029
79 +1000
0.079
73 +1000
0.073
611000
0.061
3+1000
0.003
391000
0.039
74 +-1000
0.074
98 =-1000
0.098
71000
0.007
88 = 1000
0.088
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